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QUESTION 1

Richard Roe came home early from work and found his wife in bed with another man. Roe become immediately
incensed and killed both. He is probably guilty of:

A. Premeditated murder

B. Involuntary manslaughter
C. Voluntary manslaughter
D. Second-degree murder
E. None of the above

Correct Answer: C

QUESTION 2

Store inventory shortages are mainly caused by:
A. Shoplifting losses

B. Employee theft

C. Poor inventory control

D. Paperwork errors

E.a, b,and d

F. All of the above

Correct Answer: E

QUESTION 3

The process whereby the determinations and actions of an administrative agency are reviewed by the courts is:
A. Stare decisis

B. Certiorari

C. Mandamus

D. Judicial review

E. None of the above

Correct Answer: D

Latest ASIS-CPP Dumps | ASIS-CPP Practice Test | ASIS-CPP Exam Questions 2/3


https://www.geekcert.com/asis-cpp.html
https://www.geekcert.com/asis-cpp.html
https://www.geekcert.com/asis-cpp.html

VCE & PDF https://www.geekcert.com/asis-cpp.html
2024 Latest geekcert ASIS-CPP PDF and VCE dumps Download

GeekCert.com

QUESTION 4

Which lock is generally used on automobiles, desks, and cabinets?
A. Wafer

B. Ward

C. Pin tumbler

D. Combination

E. Cypher

Correct Answer: A

QUESTION 5

Which of the following is not correct regarding narcotics?

A. They have been used for a long period of time as a remedy for diarrhea.

B. The term "narcotic" in its medical meaning refers to opium and opium derivatives or a synthetic substitute.
C. They tend to intensify vision and increase alertness.

D. They are the most effective agents known for the relief of intense pain.

E. They can cause respiratory depression in some cases.

Correct Answer: C
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